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100Bg keZ B A HH DO
BREHEE
No BT EEA HEoEE T L-134 £ L-137 SRHiE
Bag. kg Ba. kg Ba. kg
1 g R+ R7.5.12 BEARLW=IT(FEHh) BREE9(<2.7) 5.62 5.6
2 b=y R7.5.12 BHR=HE 1T (FER) BRHE9(<3.6) BREE9(<29) BRHEET
3 =1:y R7.5.12 BR=HE 1T (MK BRHET(<L5.9) BRHET(<45) BRHEET
4 b= R7.5.12 BIRAOESNL= T (FEER) BREE9(<4.3) BRHEE9(<4.6) -
5 =1:y R7.5.12 BRAOESNL (T (MR BRHET(<3.9) BRHE9(<3.9) BRHEET
6 EZA™ R7.5.10 HoU (FHE) BREE9(<5.3) BRHEE9(<3.8) -
7 FEH R7.5.12 HoU () BRHET(<L5.8) BRHET(<4.2) BRHEET
8 =ka7) R7.5.12 HoU (FHE) BREE9(<5.7) BRHEE9(<L5.7) BT
9 AJIET R7.5.12 AE(FHE) BRHET(<L5.0) BRHE9(<5.0) BRHEET
10 LIE R+ R7.5.12 LALLM (LET) (FiE) BRHEE9(<5.5) BRHEE9(<4.4) BT
11 E%AH R7.5.10 =T (B ) BRHET(<6.1) BRHET(<54) BRHEET
12 EZATH R7.5.10 RENYEIT(B4E) BRHE9(<6.0) B®RHE9(<5.0) - daskcac

BRBEEEICBT2—REROEEE €294 100Ba/kg(ESHL-134, £ L-13TDEE(E)
HEEE I L-134EEY D L-13TDEEEIZOVTIE., B F 24 (LN LIHTEZMIEEAL-LD) TRELTULET,




